Ct| =t T}
—m_ O &dHd O
A= (=2)2x3=-5, (-3)+B+8=114 W, A-B | 4. =2 AAXR Z& A2 FoHH?
o Fgor g2 AL?
A (—13) + (+32) + (=25) — (—19)
D 15 @ 16 ® 17 @ 18 ® 19
© —24—-174+29+ 15
@ —10, -5 @ -3, 4 ® 5,7
. O 38 B 7RO 59 32 Al4tste] &AH R @ 10, 6 ® 13, —27
e ojet,
(=) (=D [(=1) (+2)|(+2)
(=3)(=3)|(+2) (+2)|(+2)
(=2) (=2)[(+1) (+D|(+1)
(+1) (+D)[(+1) (=4)|(=4) 5. 1:}% % %_‘% 7/-\]%(7
O (2% =+8 @ —(-1)*=-2
® —-32=9 @ -23=-8
® —(=3)3 =-27
e & %2 A& 25 A=d?
6. (—1)190 — (—1)%1 — 150 & A5t}
O -2< -7 @ 3> -5
® —-5>0 @ |-2| < |-5]
® |+3] < |-1]
7. & 5 A4t A3t 7P 2R A2
D —22 — (=33 47
@ (—4) x (-5)?

® (—16) x (—1)> 19
@ 18+ (=3)2 x (—1)?

® 35— 14 x (—2%)




8. Auligto] &2 F A= Aol A7 10 & ], o] F

9. o= BAlS "t A2 vHto] A4tsto e}
(=79) + (+17) + (—21)

10.a+(-3) =13, (-16) = b= -4 L W, a=b 9] S
T-5hH?

® -3 @ 3 ® -1 @ -3 ® 4
11,038 RoJ 42 olg5to] A 1), 4, B, C. D
o & Fofofer

12,524 S114 —100] sk At 440 T3t
Ao 22 Azl 9k 48 Tstolel,

13.a = (—1) x (+4) x (=2) |2, b= (—2) x 3 x 1 °|}.
ol @ x b O] F& 1=H?

® 24 @ —24 B 48
@ —48 ® 0
14.02 5 A 23 —2 Q1 AL BF 12 Z27
7]
@ (-3)x4+6
© (—24) = (-12) x (=1)
© 6+ (—2) x4
® 14+ (-2) — (-5)
® 6,0 @ ©,e
®9,0,6 @ 6,0,
® 0,0,0,e

15.05 7 A Adstd 2 & & 2 FE€ 0, &

FE bR, axb ol G

Mo

@2x(-3)2+ {3+ (-2 x(-3)}
O©3-{20-22x(7-5)} +(-3)

@ 5 ® -5 ® 7

@ 14 ® —14




